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English Simulated Test (1)

Part I Listening Comprehension
Bection A |

Directions In this section, you will hear 10 short conversations. At theend of
-€ach conversation, a question will be asked about what was said. The
conversations and the questions will be spoken only once. After each question
there will be a pause. During the pause, you must read the four suggested
answers marked a, b, ¢, d, and decide w]nch iz the best answer. Then circle
the letter beside your choice.

1. a. He will take it to the repairshop.
b. The woman isn't careful enough.,
There is nothing wrong with it.
He may be able to repair it. -
Jason doesn’t work here any more.

1)
S

. The man hag dialed a wrong number,

e

Jason isn’t on duty today,
Jason has been fired.
The woman is seldom late.

£

There was something wrong with the woman.
There was something wrong with the bike,
The woman had an accident.

He i3 having a holiday.

TP e TP

. He has resigned.
o. He igsick.
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d, BHe doesn’t want to see the woman.

5. a. The school bus left too early.
b. She didn’t find the school bus.
o. She overslebt. i A
d. Her clock was slow.
6. a. Ohina b, Hong Kong o. America d. Canada
7. a.8:00 b. 8:10 o.8:30 d. 8:40
8. a. The man
b. The woman
0. The man's brother
d. Don ,
9. a. Yos, because she got some while she was shopping. . .
b. Yes, because she wants to help him.
o. No, because she's already spent most of it.
d. No, because she already lent it to a friend.
10. a. $2.00 b. $6.00 o. $4.00 d. $56.00

Section B

Directions In this section, you will hear two passages and a conversation. At
the end of each passage, you will hear some questions. Both the passages and
the questions will be spoken only once. After you hear one question, you must
choose the best answer from the four choices marked a, b, ¢, d, and circle the:
letter beside your choice. =

Questions 11 {0 13 are based@ on the following short passage. -
11, a. Small ars are casy to park quickly.

b. Small cars are cheaper than big cars.

0. Small cars are convenient on long trips.

d. Small cars need smaller parking spaces.
12, a. Why Small Qars Are Popular.
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13.

6 T » o o

The Advantaged of Small Cars.

The Differences between Big and Small Cars.

The Advantages and DlSa.dvantages of Small-Cars.
They are cheap to buy.

They -eost less to park. <.

. They consume less energy.

d.

They are cheaper to repair.

“Questions 14 to 16 aze based on the following conversation

14. a.
-~ b.
. History and algebra.

15.

16.

[~

d.

e
d
a
o.
a.
b.

English and history.
Algebre and English.

. Math and government.
. English b. History

Government d. Algebra

John has always been d‘o‘jvhkg well in English.

John didn’t get a good mark in hlst‘,ory because he
doesn’t like the course.

. John got a O in government, Whlch is better -than

what he had got before.
John got a B in algebra because their new teacher

teaches better than the old one. .
Questions 17 to 20 are based on the following passags..

17. a.

b.

The fact. that women got ehanoes to work in
industries. : .

The fact that women got the. rlghts to vote after
the First World War.

. The fact that women obtained profossional jobs in

L 4
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education. , .
d. The fact that women won positions in polities.

18. a. 55 yearsold b. 59 years old
0. 67 years old - d. 0 years old

19. a. Food and clothing, = bh. Teaching.
o. Medioine, ) d. Journalism,

20. a. Nowadays you can find women lawyers in Britain.
b. Women have gained some top positions in the

British Government.

-]

. British women are doing many important jobs.

j=¥)

. In Brifain todsy, men and women are equal.

Part [I Vocabulé.ry and Structure

Directions Tkere are 30 incomplete gentences in this part. For each sentence
there are four choices marked a, b, ¢ 2nd d. Choose the ONE answer that best
completes the sentence. Then mark the corresponding letter on the Answer
Sheet with a single line through the centre,

21. He suggested 1o see the film,
a, usto go . b, wego .
o. we shall go d, we went _

22, ““Are you going to go with us on the tour?”
“I'd like to, but with my exams next week, I know X

really ¥
a, wouldn’t . b. couldn’t
o. shouldn’t d. hadn’t.
23, “You __° . 'read that artiole if you don’t want to.”
a. haven't b. can't
o. mustn't = * d, needn’t

L 4
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24.

25.

26.

27,

28.

29.

380.

“He's angry, so we ______ be careful.”

a. had better b. would

c. should%etter d. might .

“I wonder why they haven’t arrived yet. The * traffio
_____them.” ’

a. should delay b. may delay

o. oould have delayed d. ma.; have delayed

The chairman requested that the members______ the
problem more carefully.

a. studyy b. studied

o. would study d. must study

Next week, I would liketo

a. ocall on your house b. oa}l on you

6. cell to you d. call to your hounse
She does not agree______ his proposal.

a. with _ b. to - o, for d, upon
Breakfast will be ready by the time ____ .
a. you dressed’ ’

b. you will have dressed

¢. you dregsed up -

d. you have dressed :

Even though they  for tweniy years, the two
neighbours are not very friendly. :

a. having been lived side by side

b. had been living side by side. -

o. have heen living side by side

d. having been living side by sid'e'



381. All pupils know that salt water at a lower

temperature than fresh water.

§. freozes ©_ b. freezed ’
-
;7 o. was freezing - d. freezing
32. They had a wonderful time that day, r
a. did they . = = Db. had they
o. didnitthey . d. hadn’t they

33, ___ . we shall go on a pionio,
a. Should the weather be fine
b. Would the weather be fine
o. The weather be fine
d. Being the weather fine ,
34. It is no uge. | ‘ me for it. I am not in the position
to help you.get the fob.,

a. toassk ~ Db. asking
o. ask . - d. having as]sad
35. The headmaster. &t least an hour.
a. kept ug to wait b. kept us waiting for

o. kept us to wait for d. kept us waiting
86. John sdmitted that it's always difficult * .
a. for him being on time
. b. for him on time
o. for him to be on time
d. on time for him | :
37. The work pleased the old woman, the work
8. Dleased . b. was pleased

o. wasd pleasing’ . .. d. pleasing
L 4
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38.

These apples are still too green and sour
&. that they can he eaten -

~ b. for eating

o. to be eaten
d. that they can’t have heen eaten.

89. That policeman Js‘iooklng fora °  oar.
a. stolen‘ b. stealing
o. steal d. having sfolen
40. Her mother hag fow friends here, __ ?
a. hag she b. doesn’t she
o. hasnhn'she d. doesn't her mother
41, Travellers in the eighteenth century were always
liable __ of their possessions by highwaymen.
a. torob b. to be robbed
0. being robbed a. robbing
42, time, he'll make a first class runner.
a. (iiving b. Given
o. To give d. Having given
43. “What happened yegterday?’ he
“I don’t think __  happened.”
a, a,nytl.l‘ing b. everything
o. nothing d. something
44. The novel issaid ____ into many foreign languages.
a. to translate b. to be translated
0. to have been translated d. to have translated
45. We had never had ____ lunoh before.
a. 4o a big b. such hig a



¢. such a big d. big as so
46. In computer programming, this medel is. cbviously

superior any of tho others we have in the
departroent. | '
a. to b. than o. over » d. from
47. Iet’s go for a \;alk, I
a. shall we : b. will you o
c. won't we © d. can we

48. “Which restaurant would you like to go to tonight?”
« _the plaees I've heen, I enjoyed tl}e restaurant
here in the hotel most. ?

‘a. From all b. Allof
o. Of all ~ d. Al
49. We could hardly ____anything in the thick fog.
a. make for " b. make off
0. make ou d. make up
B0. Thekey  the exergise is on the back of the hook.
a. gf Db. to 0. with d.for
L4 . v

Part IH Cloze

Directlons There are 20 blanks in the following passage. For each blank there
are four choices marked 2, b, cand d, You should choose the ONE that best
fits into the passage, Then mark the corresponding u;t,er on the Answer Sheet
with a gingle line through the centre.

Some people think they have an &nsWer to the problem
of automobile orowding and pollution in large oities. Their
bl  ig the bicyole; or “bike”,

8



In a great 52 oities, hundreds of people ride bioycles
to work ewaryhda.y. In New York Oity, some bike 53
have even formed a group 54 “Bike for.a Better City”.
They 55 that if more people roti'e bicycles to work, there
56 be fewer automobiles in the downtown section of the
oityand 57 less dil"::y air from oar 38 .

For seveval yoars this B9 has been trying to get the
oity goverument to_ 60 bioyele ride’rs. For 61 , they
want the city to paint special lanes—for bicycles only—

62 some of;. the main streets,” hecause when bicyole
riders must use the 63 lanes as ears, there may be 64 ,

.Bike for a Better City feels that if there wére 65 lanes,
v —2
more people would use bikes. ) ‘ . :

But no bioyole lanes have been 66 yet. Not
everyone thinks they are a good 67 . Taxi drivers don’t
like the idea—they say it will slow 68 . Some store
owners on the main streets don’t like the idea—they say
that if there i less traffie, thga_y'wﬂl haveless 69 . And
most people live 70 far from downtown to travel by
bike.

. purpose

Bl. a. problem b. answgr 0. help - d

52, a. man b. deal o. number d. more

b3. a. sellers b. fans o. rid'ers d. sportsmsn
B4. a. as b. of o. marked d. called
Bb. a. a;:nouneeb.‘ assure o. olaim  d. convince
B6. a. would b. must o. will d. can

7. &, still b. therefore 0.46%1: d. so



58. a. faoctories b. equipments ¢. engineg d. accidents
59. a. group b. proposal o¢. section d. movement
L]
60. a. encourage b. help o. notice d. join
* -
61. a. once b. that c.good  d. example
62. a. on b. beside o. by d. near
-
63. a. very . b. big g same d. narrow
64. a. happenings l; oonfliots o. events d. accidents
65. a. good b. special o. broa_a,_g\ d. safe
66. a. build b. divided 0. pain’c<ad d. allowed
67. at ideday b. way c. sign  d. group
68. a. trangport b. speeg o. traffioc d. advanoce
L -
69. a. bus‘in‘ess b. money o. goods d. oustomergy
o. too d. so -

70. a. very b. quibe

Part IV Reading Comprehension

Direetlons Thero are 4 passages in this part. Each passage is followed by sorae
questions or unfinished statements. For each of them there are four choices
marked a, b, 2, and d. You should decide on the best choice and mark the

corresponding letter on the Answer Sheet with a single line through the
centre. s

Passage One

The year was 1932. Amelin SLarhart was flying alone
from North America to England in a small single~
engined airplane. A} midnight, several hours after she
had left Newfoundland, -she ran into bad we&ther. To
make things worse,, her altimeter failed and she didn’t
know how high she was flying. At night, and in a storm, a
pilot is in great diﬂisulty- without an altimeter. At times,
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her plane nearly plunged into the sea. .

Just hefore daylight, there was further trouble.
Amelia noticed flames coming from the engine. Would she
be able to reach land? There was nothing to do except to
keep going and to hope.

In the end, Amelin Earhart did reach Ireland, and for
the courage she had shown, she was warmly welcomed in
England and Europe. When she returned to the United
Btates, she wag honored by President Hover at a special
dinner in the White House. From that time on, Amelia
Earhart was famous.

71. What kind of airplane did she uge for that flight?
.  a. double-engine b. big engine

o. small single—engined d. big single-engined
72. In her flight from North America in 1932, Amelia

Earhart landed on___ .

a. the United States b. Europe

o. England d. Ireland
78. What is the further trouble before daylight?

® a. her engine failed b. her altimeter failed

o. she met a storm . (l . her engine was on fire
74. She wag warmly welecomed for___

a. her flight l%.‘x 'l;.ler oQurage

¢. her braveness d. her beauty
"76. She wag invited to the dinner by _

a. English people b. her family

o. President Hover " d. Ireland people

-

« 11 ¢



Passage two ' ' A

Worldwide fame burst upon Albert Eingtein on Nov.
%7,1919, when British astronomers announced they had
found the first confirmation of Eingtein’s general relativity
theory. Einstein had already become known in scientific
cireles because of his two astonishing theories: the special
theory of relativity, published in 1905 when he-was only
twenty-six and a minor olerk in the Swiss patent offios, and
the general theory of relativity, advanced between 1913 and
1915. He was considered so brilliant by other soientists that
in 1914 he was invited to join the prestigious (FFEM)
Royal Prussian Academy of Seiences and to beoome head of
the research branch at the Kaiger Wilhelm Institute. He
aceepted the offer and moved to Berhn
76. Why did Einstein become famous on Nov. 7, 19197

a. Fo announced his general relativity theory,

b. He received the Nobel prize.

0. Scientists were astonished by his theories.

d. Scientists ha.d conelusive proof of the general theory

of relativity. :

77. When Einstein pubhshed his special theory of

relativity, he was employed by the

a. Swiss patent officgp =~ b. Royal Prussian Academy

o. Kaiger Wilhelm Ingtitute

d. Britigh Ingstitute of Astronomy
78. Einstein's speoial relativity theory was first presented

to the seientific community in

»
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